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keZ

Por e o
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.7\9-'—'(.2,1,1,5.\ o—0—0— -.-—-.——\0/: Xl }
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In generol , i# we take s1<Segs3<- LSy
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The chorged hook lengths congroent to O mod e

let te $4,...,r} and 8 € Bi. For ke Zo, we set
4 {Je Tity,..,rd l é £ B; t if k=0

N (8): =
tje 11,.,rt|e-kegBl  i#wo

Proposition L C.-Jocon ) Toke s, %2 %L ... £ <54

J‘(o(])-— i i .’\((6)

L1SI&T @eBy

¢ Need + Netgy = 2 2 Ne(8)  dor ke Zso

L<isr @eB,

e Defect (9) = 3 D 2 N«(8)

Lgigr GG'B; k?,O
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#ije?.i-rl,o..,r} IS;Bj} i{ k=0
Ne(8): =
fje {1,.,r}|e-2xg Bt i ko
J\(o("zﬁ‘-'i

No(1)=0 Nui(CL) =1

No(2) =1 Nu(2) =4 Ne(2) = 4
Ni (0) = 14
Ni(1) = ¢
Ni(3) =0 Na(3)=1

l'l (3) - { -i, O)OJ A‘)l/ilil 212)2/2/ 3,3' 313/ "l qls }
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let 1€ §4,...,r} and 8¢ Bi. For ke Zso, we set

H# %ja tiv,,rd | 84 Bt ¥ k=0
J(y,(g)f =

#1je 14,.,r}|6-kegBil £ kvo

Proposition L C.-Jocon ) Toke s, %2 %L ... £ <54

cNo ()= 2L D N. (&)

L1SI&T @eBy

¢ Need + Netgy = 2 2 Ne(8)  dor ke Zso

L<isr @eB,

e Defect (9) = D I ‘z Ne(8Y = W ce.s) (7))  ~r block invariont
Leigr 8eBi k70 L Jocon - Lecovvey ] For Rrn(s)
[Foyers]
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Hecke algebras of complex reflection qrevps

I# W is an irreducible complex redlection group,then
. either Wz GCr,0,n) £ Glr,i,mMe (Z/r2) % Ga
« or W is on exceptional group Gq,6s , ..., Gaz

Rr.n(s) con be viewed os the Hecke algebra sf G(r,i,n)

Thm [ Geck ]
The dedect is o block invoriont 2or the Hecke odgebros
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(that is, ('ﬁ-q\("rwﬂ =0 Vi).
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This is also trve in the onequal parameter cose.
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Thm CC.-Jocon)
The defect is o block invoriont for the Hecke algebros of

¢ G(r,L,n)
e G(r,0,n) dor nY2 or n=2 % L odd
o all exceptionod orovps for which the blocks are known

Con !' CC.-TJocon]

This is troe for oll complex re2lecion grovps.



